BIC

log[ Relative Probability ]

—200

Window Half—Width (km/s)

10%

5%x10°

2x10°

10

0

—100

10*

1000

rme43 2/(412222 ~5056)=0.97
T | T | T | |
i BIC 460807 81 ABIC O. OOO AlogP 0.0000 ]
3 X 395437.19 Ax 0.000 AlogP 0.0000 -
TS o BIC
S il s ;
' ' X
| ABIC —58906 1093 :( i
Ay? —58906 -71.1
4966 4966 5056
A | | AC5 ] | AC5F | |
20 40 60 80 100 120
120 iterations
rme43 2/(412222 ~5056)=0.97'
[ T T T T T T T
| BIC 460807 81 ABIC O. OOO AlogP 0.0000 |
2 2
___________________ o e
------- 4966 - - - - - 4966 - [ f
i A AC AC.F
C , l i l 5 . l - l —> T T T T
20 40 60 80 100 120
120 iterations
Fe2 62% 710+£162 km/s
rmeé43 BLR 8820 NLR 900 km/s
T | T | T | T | | H
NLR
Fell
120

120 iterations

kdh1 12-0ct-2021 04:05



